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int n, i, a[MAX];
cin >> n;
for(i=0; i<n; i++) {

cin >> alil;
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int a, b;
while(1) {
cin >> a >> b;

if( (a==0) & & (b==0) ) break;

}
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int a, b;
while(1) {
if( scanf("%d %d", &a, &b) < 2) break;

}
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int a, b;
while(1) {
cin >>a >> b;

if( cin.fail() ) break;

}
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Q10055 : Problem A
Hashmat the brave warrior

Input: standard input
Output: standard output

Hashmat is a brave warrior who with his group of young soldiers moves from one place
to another to fight against his opponents. Before fighting he just calculates one thing, the
difference between his soldier number and the opponent's soldier number. From this
difference he decides whether to fight or not. Hashmat's soldier number is never greater
than his opponent.

Input

The input contains two integer numbers in every line. These two numbers in each line
denotes the number of soldiers in Hashmat's army and his opponent's army or vice versa.
The input numbers are not greater than 2/32. Input is terminated by End of File.

Output

For each line of input, print the difference of number of soldiers between Hashmat's

army and his opponent's army. Each output should be in seperate line.

Sample Input:

10 12
10 14

100 200

Sample Output:

2
4
100

MyNote:
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Q10071: Problem B
Back to High School Physics

Input: standard input
Output: standard output

A particle has initial velocity and constant acceleration. If its velocity after certain time is
v then what will its displacement be in twice of that time?

Input

The input will contain two integers in each line. Each line makes one set of input. These
two integers denote the value of v (-100 <= v <= 100) and t(0<=t<= 200) ( t means at the
time the particle gains that velocity)

Output

For each line of input print a single integer in one line denoting the displacement in
double of that time.

Sample Input

00
512

Sample Output

0
120

MyNote:
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Q10499: Problem H
The Land of Justice

Input: standard input
Output: standard output
Time Limit: 4 seconds

In the Land of Justice the selling price of everything is fixed all over the country. Nobody
can buy a thing and sell it in double price. But, that created problems for the
businessmen. They left their business and went to the production. So, after some days
everybody was in production and nobody in business. And the people didn’t get their
necessary things though the country was self-sufficient in every sector.

The government became very much anxious. But, they were intelligent enough to call the
mathematicians.

The mathematicians gave a solution. They suggested setting the surface area of an
object as its selling-unit instead of its volume. Actually the clever mathematicians were
very much interested to establish their own business.

Now, the government asks the programmers to build the software that would calculate

the profit things.

Here your job is to calculate the business profit for a solid sphere. A businessman buys a
complete sphere and to maximize his profit he divides it in n equal parts. All cut should
go through the axis of the sphere. And every part should look like the picture below:

AB is the axis of the sphere
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Input

You are given a sequence of integers N (0 < N < 27), indicating the numbers of parts of
the sphere. The input file is terminated with a negative number. This number should not

be processed.

Output

Calculate the profit over the sold pieces. The result should be in percentage and rounded
to the nearest integer.

Sample input Sample output
2 50%
2 50%

-1

Problemsetter: Tazrian Khan, University of Dhaka

MyNote:
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Q10812: Problem D

Beat the Spread!

Superbowl Sunday is nearly here. In order to pass the time waiting for the half-time
commercials and wardrobe malfunctions, the local hackers have organized a betting pool
on the game. Members place their bets on the sum of the two final scores, or on the

absolute difference between the two scores.
Given the winning numbers for each type of bet, can you deduce the final scores?

The first line of input contains 7, the number of test cases. 7 lines follow, each
representing a test case. Each test case gives s and 4, non-negative integers representing
the sum and (absolute) difference between the two final scores. For each test case, output
a line giving the two final scores, largest first. If there are no such scores, output a line

containing "impossible". Recall that football scores are always non-negative integers.

Sample Input

2
40 20
20 40

Output for Sample Input

30 10

Impossible

MyNote:
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